Conversion Hexadécimal en Octal (E)

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Hexadécimal = 3 2. Hexadécimal = 31
Octal = Octal =

3. Hexadécimal = 301 4. Hexadécimal = 3DD
Octal = Octal =

g Hexadécimal = 182 0. Hexadécimal = F1
Octal = Octal =

7. Hexadécimal = 28B 8. Hexadécimal = 1F8
Octal = Octal =

9.

Hexadécimal = 1469 10. Hexadécimal = 145C
Octal = Octal =
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Conversion Hexadécimal en Octal (E) Réponses

Ecrivez chaque nombre dans le systeme de numération de base indiqué.

L Hexadécimal = 3 2. Hexadécimal = 31
Octal = 3 Octal = 61

3. Hexadécimal = 301 4. Hexadécimal = 3DD
Octal = 1401 Octal = 1735

g Hexadécimal = 182 0. Hexadécimal = F1
Octal = 602 Octal = 361

7. Hexadécimal = 28B 8. Hexadécimal = 1F8
Octal = 1213 Octal = 770

9.

Hexadécimal = 1469 10. Hexadécimal = 145C
Octal = 12151 Octal = 12134
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